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Exercise set (1.1)



In Problems 1-8 state the order of the given ordinary differ-
ential equation. Determine whether the equation 1s linear or
nonlinear by matching it with (6).
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In Problems 9 and 10 determine whether the given first-order
differential equation is linear in the indicated dependent
variable by matching it with the first differential equation
given in (7).
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In Problems 11-14 verify that the indicated function is an
explicit solution of the given differential equation. Assume
an appropriate interval / of definition for each solution.
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In Problems 15—18 verify that the indicated function
vy = ¢p(x) 1s an explicit solution of the given first-order
differential equation. Proceed as in Example 2, by consider-
ing ¢ simply as a function, give its domain. Then by consid-
ering ¢ as a solution of the differential equation, give at least
one interval 7 of definition.
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In Problems 21 -24 verify that the indicated family of func-
tions is a solution of the given differential equation. Assume
an appropriate interval 7/ of definition for each solution.
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In Problems 27-30 find values of m so that the function
y = " 1s a solution of the given differential equation.
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In Problems 31 and 32 find values of m so that the function
y = x"" 1s a solution of the given differential equation.
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